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(2)

@

(2)

sAwrsl LHaurd 2 dTaTgT GTTLISED
sAunTésié Qarererad. &sULS D Gl muder, S enD&E
sansreitLreTiLD 21 anqursd Gsfleléssew.

fob o8 smuy @wulamen ol @G TWHUSHGD
<iq ECETY HusHED LTRSS CauanBid. UL BIS6T cueyeUSN &
Quendle LiweTUBSSELD.

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

@iy : Caeeuwmer @LsHé LD auerHsl FOATLTHEET TSI,

Draw diagrams and write equations wherever necessary.

Note :

@Y

Note :

Sipaidgl SNATEEEHEGD afepLweall&saL.
Qar@ésiILLL B
Gaipas658 G

Answer all the questions.
Choose the most suitable answer from the given

the option code and the corresponding answer.

LS - I/ PART -1
30x1=30

ren@ elevsafle) Wlsayld glluren eflenLemwid
S QL e ulamanyb CETE5) SIS

four alternatives and write
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() N Cmen (<) urireg.ean K
Q) Quatsrdan® () L regean®
During azonolvsis of olefins the presence of terminal double bond is identified by the

formation of :
@ acetone (b) formaldehyde

(©)  benzaldehyde (d) acetaldehvde

SREsTTLQRIDHOIET T8 &&Crisss QuImEsSLIaBOD ?
() Frmuglle EErsCsres LG AsTREADS!

() QrioL srasar

Q) SrmdustuaL s @EseGars WHDLD < LFECLIenes Car@adng
(F) QB&aT stdser

Sucrose is not

(@) hydrolysed to only glucose

(®)  a disaccharide

(€} hydrolysed to glucose and fructose

(d)  a non-reducing sugar

Sefidear sfien smbs QUM Lfub eLGCrmGul Qsra® 2 EHCammid

QEUST :

(=) QuarsTa van® () p-QuenGarguiGeanren
Q) QuaTesd Y asaDTd (F) Quemsmis enfew
(hadation of aniline with acidified potassium dichromate gives :
(@) benzaldehvde (b) p-benzo quinone

() benzyl alcohel (d) benzoic acid

LwossNareT Hapb eanl T Uesular smramons GemngSen
() Qerdfies gopdng wpnb HiL soTyb Hndr Sdshsdns.
() Qerdiee gopdpg winw Hie soryb Snar Gopdns,.

(Q) Qardileos sfsfisding wHnw Hlle seoTyb Sner GoDADS.
() Qardifere fsfisdng wpmbd Hhed seoruybd Hnar oHafadng.
The intramolecular hydrogen bonding in compounds leads to :

(@)  less boiling point and high solubility in water.

(B)  less boiling point and low solubility in water.

(¢} high boiling point and low solubility in water.

(d) high boiling point and high solubility in water.
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2HI = H, +1, eranp swhleve aflemanie K, seng :
(=) K. -&@ s (=) K, -8 ol B

(@) yiuw (7) K, -@ el @aney
In the reversible reaction 2HI = H, +1I,, Kp is :

(@) equal to K, (b) greater than K,

(c) zero (d) less than K

Qereumbd erhg s Weanaflup spwinfliiiy wenm epaons feaL LB Eng ?
(=) wflwmr (<=,) Quifis GCearrer(®H

(8)) GEpsEGsans (/F) sr&sMT
Which of the following impurity can be removed by electrodialysis method ?
(a) Urea (b) Ferric chloride

(c) Glucose (d) Sugar

LiTeoTenL&aL lg. 6TeD Fapiosdlen QL : _
(@) sTHDIES@TED (<) menpLiL

(@) Hawro sapod (/) el

Cheese is an example of :

(a) aerosol (b) foam

(c) solidsol (d) gel

Sp&saTeuDDIET 6THS owafl Hpwpp Binssmrsmans SGADS ?

(1) N2+ (<) 53 (@) cu2* (%) Mnd*
Which of the following ion will give colourless aqueous solution ?

(@) Ni?* by S (¢)  Cu* (d) Mn3*t

g AZLE eTap 2 L&D flealiys Semepoujerar B2 o Lsmeurs LrmibGurg
QauaflafLLiL@id o HmD B | STl 6m aranafamsamus samssl®

(<21) 3c, 4P (<2,) Ba, 6B (@) 6a, 8B (/) 3o, 3B
How many o and B particles will be emitted by an element g,A”'® in changing to a
stable isotope of g,B?% ?

(a) 3e 4B 7 ) 8o 6B (c) 6o, 8B (d) 3o 3B

Ly :

(<) [Rn] 5£0 14 6d° 750

(/) [Rn]5£0-1 6d%-27s0

tinides is :

< SlgaaT(Hsarien GTOSHLTEN S|enLD
(@I) [RI!.] 5F0-14 6d0-2 75’1
(@) [Rn]5£0-146d0-27s
The electronic configuration of ac

(a) [Rn]5f0-14 65182’132731 ] 5¢0-14 6d° 720 .
() [Rn]5f0-146d0-27s? (d) [Ra]5f0-16d°"%7s

[ g@gqa / Turn over
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11.

12.

13.

14.

4

Slogder auallenwenu) QUGS erpg auflas sie@wiy sflwreng ?
(1) CH,~CH,COOH < CH,COOH < HCOOH < CICH,COOH

(<) CH,—CH,COOH > CH,COOH < HCOOH < CICH,COOH

(@) HCOOH > CH,CH,COOH < CH,COOH > CICH,COOH

() CICH,COOH < HCOOH < CH,COOH < CH,CH,COOH

Which order of arrangement is correct in terms of the strength of the acid ?

(a) CHy—CH,COOH < CH,COOH < HCOOH < CICH,COOH

(b) CH,-CH,COOH > CH,COOH < HCOOH < CICH,COOH

(c) HCOOH > CH,CH,COOH < CH,COOH > CICH,COOH

(d) CICH,COOH < HCOOH < CH,COOH < CH,CH,COOH

NH,OH @m audlenw@enp b eCerafla :
(=) peauginrs wealurdpg)

(=) Gopbs el SiWsssms 2-@LL
(@) eopbs SILisdum g

() ugdwurs ywealurdps

NH,OH is a weak base because :

(a) itis completely ionised

(b) it has low vapour pressure

(c) it has low density

(d) itis only partially ionised

[Pt CL,(NH,),] erém Sienente Geoggler PEH -6 jenewtey erei :

(=1)5 o ()2 (&) 6 () 4
The coordination number of P2+ in the complex [Pt Cl,(NHj),] is
(@ 5 (b) 2 (© 6 (d) 4

T505TESH SRS LTTTSTHESSSEnLOMmWL Qurgleurs Carert(Hereren

(=1) s -QgrEs saflomiger (<) p -CarEd seflorisdm
(@) f -Qsrgd saflomsar (r) d -QsrEed sefvhisd
Paramagnetism is common in :

(@) s-block elements (b) p - block elements

(c) f-Dblock elements (d) d -block elements
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@0 demanlden AG erflighew QuDHHHSTD, HHD FHUGD WLIHOLD

(=) Betgenenujenwig (=) seafFenswiTang)
(®) suflow () spenaflFanswumng
If AG for a reaction is negative, the change is :

(a) Reversible (b) Spontaneous

() Equilibrium (d) Non-spontaneous

@plCrr B5Csear oflLroyman@Lar gnés Nearudd rEULBS
Qar@uug)
(=1) 2-eBLGrr-1-yrliuemme (=) ool Gy LyriGuen

(@) 3-eBLCpr yrlueme (/) 1-eppl Grm-2-LyrliLiemmed
Nitromethane condenses with acetaldehyde to give :

(@) 2-nitro-1-propanol (b) Nitro propane

(c) 3-nitro propanol (d) 1-nitro-2-propanol

rait eudllenn 1068 saflo slleniserLer elaarnfibg 2 sCaraflun 2 Lienu
2 HeuT&G6Us) :

(=) yCrmiLmer Hésd (<) eTe&Lymem grdmLd

(@) B Bés () yGymiiLmen ermid

The formation of oxonium salt when ether reacts with strong mineral acids is called :
(a) deprotonation (b) electronation

(c) dehydration (d) protonation

Capeger Qe sGsivmamer BrmrHUGSEGDLEUTE st apTeon® <Sjwefl
%@W@Jg{ :

(=) emausde ufiiu Canageasaisd GnHS!

(=) emapfe Aflu Capagasaid QG5

(8) @ran Canegarsaflalnpsid

(7) @fls sl yrasal samen Clarer Canagefledmba)
On hydrolysis of interhalogen compound, oxyhalide ion is formed from :
(a) larger halogen

(b) smaller halogen

(c) both the halogens

(d) more electronegative halogen

[ Hmlys / Turn over
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19. enplGrr Quenden Zn/NaOH 2 g @O&sweaLHg HeLLug

(1) 2Csm Quenderr (<) teflede

(8) manl_yrCar QuenSer () gns&d Quender

The product obtained when nitrobenzene is reduced using Zn/NaOH is :
(a) azobenzene (b) aniline

(c) hydrazobenzene (d) azoxy benzene

20.  Afys sflawsher welwumse aran Grm :
(=1) 21 sCorfl & ~1 Guore~! g el Geopey
(=) 21 96 i ~! Goréd =1 g aflL 255D
(&) 21 396 AN~ Gorad~1 -é@ swib
() 21 &Georfl 14 &fi~1 Guored~1 g3 el yflasid
The entropy of vaporisation of acetic acid is :

(a) less than 21 cal deg~1 mole~1

(b) greater than 21 Joule deg~?! mole ~?
(c) equal to 21 Joule deg~1 mole 1

(d) greater than 21 cal deg~1 mole 1

21.  efilewenCGousé sweanm ige 2 eer Qefloysaien iHEEsailen G (DB :

(<=1) elewarGeusid (<) epeEEnm eremr

(@) enarGeus wmed () elenareuens;

The sum of the powers of the concentration terms that occur in the rate equation is
called :

(a) rate (b) molecularity

(c) rate constant (d) order

22, Ceuglliurliy seuigedld erg Seupmeng) ?
(1) urdys seumb Qurmafler g UL HEGEmer GCermelssps,
(=) BeTTSSemanLol|en L Iig
(@) uriyé Gamoriger o (Heurdlenmer
(7) @&0E Hemiaym pHnd ComaiiLBépg
For chemisorption, which is wrong ?
(a) it forms multimolecular layers on adsorbate

(b) irreversible
(c) surface compounds are formed

(d) it requires activation energy
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§repowpHn STTLmans Qa&ramgyrg OCamsen

(1) UGymadlen () Hemer&en
(@) ogGrrélen () Sievaflen
The amino acid without chiral carbon is :

(a) proline (b) glycine
(c) thyrosine (d) alanine

UGCrmACampmsHin@ erefigrs o L@ Cafob :

(=) Sered () QuanCemuils ojllen
(&) QLrguaies () Quesr&en

A compound that undergoes bromination easily is :

(a) phenol (b) benzoic acid

(c) toluene (d) benzene

bee LIg 85860 @ Sja@s sl yaiater Qs anssatlen cranafléams :

(1) 3 ()1 (&) 4 () 2
The total number of atoms per unit cell in bec is :
@@ 3 b 1 (c) 4 d 2

silwres smpap CarBOsHESWD

(24) ooLyeenflafien erevdi gmem BriLib @Germflenan el SiFl&LD.

(<) 2 wilw eumyssefler eravslyrear BriLomag HESLW.

(@) Carshsailda craslyra FriLb Gmpeay LHmb 2 Corsb seflan
GT&LFTEN BHriLid S0,

(7) d1%2 ereslgrenen Qaram@erer saflbmseien aa&lran B L
wPliyser rHiGHlenl 2L IIma.

Pick the correct statement :

(a) Electron affinity of fluorine is more than chlorine.

(b)  Electron affinities of noble gases are high.
(c) Electron affinity of non-metals are low and those of metals are high.

(d) Electron affinity of elements having d'%s? configuration is negative.

E —- 136 §-_3484 crafld, n -6 w0 :

nZ
(=1) 2 ()4 (@) 1 () 3
E,=- 31?;'6 , if the value of E;= —34.84 to which value ‘n’ corresponds ?
n
(a) 2 (b) 4 © 1 d 3

[ Spuys / Tumn over
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28. @@ Cadlellamaniear warGams@ LHHID .gmc:a_mé;@ G.Eﬂsmm(ﬁm:s; gnﬁgaﬁm
G 0.05 eermy ~1 opmb 2 eflanmg L TN SHB K. wdliy :
(<21) 0.035 (<34) 0.025 (@) 0.045 _ (rF) 0-02_1
The rate constants of the forward reaction and reverse reaction are 0.05 sec™ " and

2 sec™! respectively, then K_ is :
(@ 0.035 (b) 0.025 () 0045 (@ 002
29.  QereumLaraupile sHfusss saepwerer orbs@a :
(1) LGrmAgHud () @eflud
(@) #fun (w) sLGamafluid
The radioactive lanthanide among the following is :
(a) promethium (b) lutetium
(c) cerium (d) gadolinium
30. EpssramuaTaubmeT oTE) ereflu ST
(1) C;Hy;—O-CH, () CHy O —CyHy
(@) CHS—O—C6H5 (IT) C2H5—O—C2H5
Which one of the following is a simple ether ?
L@S) - 11/ PART - II
GoIay : () aCsmubd uflewentag efeamssenie, eflenL_wefl&sen. 15x3=45
(i) @atlaurm elamainEh e Aoy rewr® cursdutisefa
aflen L wefl&sa,ib.
Note : ()  Answer any fifteen questions.

(i) Each answer should be in one or two sentences.

31. @endsiL] - cuanFwf).
Define hybridisation.

32. Si-C -em sslenanriiy Hemiodliy 1.93 A. s 9|gm)6flen FELUanen(iLy gy 7id
0.77 A erafdd, Heflsammen 2igyeilen sslamenriiy BIEDS Farrsd (s,

The value of covalent bond length of Si-C is 1.93 A. Covalent radi _
0.77 A. Calculate the covalent radius of silicon atom. tus of carbon atom is




33.

34.

35.

36.

37.

38.

39.

40.

9

Burafler erGCoguid peny LLTEmET 6T(HEIS.

Write any three uses of Neon.

7683

urevuralen @@ salAOn WPEETTHH 6D eemwg. GCorosmnss

s fibg Digen erevdslymen Lerafl eumiiumlen euanys.

An oxyacid of phosphorus is triprotic in nature. Identify the compound and draw its

electron dot formula.

QeLflenag saflomaer Semame s Comomisamer e (Heurs@GelGgean ?

Why do transition elements form complexes ?

QuriLrflwbd @CrrCwl eeavamry QuriLrflwube L @CrrGuwlLrs
wrHpULGSEDg ? Copsmblu efaade Hlawn HpwrHpsms Gnys.
How will you convert potassium chromate to potassium dichromate ? Mention the

colour change involved in the reaction.

U8 o L gmeflen saraurpsrad 140 priser. @il amelen syrafeaumy

BTOSMSE Haéd) ([HS.

Determine the average life of U having tj; =140 days.

2 fBlensL_sgb Hleveomp Geuliuflene - euenyuigy.
Define super conducting transition temperature.

Spssa flevaveno wrppsHlanGurg eran Grma wrppsamss samsd(s.

AH,, gition =2090 J.mol~1
1 mole S, (a, 13°C) = 1 mole S, (B, 13°C)

Evaluate the entropy change for the following process possessing

AHynsition =2090 J.mol ~1
I mole S, (&, 13°C) = 1 mole S, (B, 13°C).

cflevern Gemad - euanyLg.

Define reaction quotient.

[ Hmiys / Turn over
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41,

42,

10

SpssanL Hisarean elenenser ereiauamEamiL #THES aran HerLHls.
() 2-Quggeér-2-9y1 L amrena bimésin Qelige

(M) euemerw LGrMLGLEN WrHHlLEHHE UL edlenen

(iii) smSSen (penaflovauder eLeravi i BrmHLGESLILGSD
Identify to which type does the following complex reactions belongs to :

()  dehydration of 2-methyl-2-butanol

(if) isomerisation of cyclopropane

(iii) saponification of a diester in presence of an alkali

3o awans eflaaniar ApLiGwudusdr G Qra® eT(pss.

- Write any two characteristics of first order reaction.

43.

44.

45.

46.

47.

lg.GTLTe) GilenaTey EremmmTed Gramar ?
What is Tyndall effect ?

&M flwsmg Comqwd emapl FrémsdLar srb UTTsELCUTS)
vueau(sgd Hlpmsriy g ? car ufloe shlurer sryewss L en
Buruiu®ssis.

What is the indicator used for the titration between oxalic acid and sodium
hydroxide ? Justify your answer with suitable reason.

F0lomis Seoenal eranpmed ereman ? rHEHEST.[Hd H(MHs.
What is a racemic mixture ? Give an example.

Mevearerw yisdl Geg elenerGummansar GLwfHs.
ALO; . ,

CH3CH20H —-gﬁ('—) {

Complete the reaction and write the name of the product.

Al,Oq 5
CHSCHon _-5;22(]?(—.) {

Gn&Es saaflerCrr alenande, urfordgman® wHmb Quersrdgaman
ellaearul () GQuetames YosanTema LLHGCL sMHEng. Qwssarmas
FHUSH DM STTERTD FaM)s.

In crossed Cannizzaro reaction between formaldehyde and benzaldehyde the alcohol
formed is only benzyl alcohol and not methanol. Give reason.
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48. LIS LFMs eI 6Tt g ereueury gurflsaiu®@dpg ?

What is Malachite green ? How is it prepared ?

49. wmpy) TV ITEGHD eflenan OsADTL PP THTUSDE SGHS DTS

S(Hs.

Give suitable reaction to show that trans esterification is an alcoholysis reaction.

B cocl, - :
50. C—,-Zl:)ON K(;?H > B 25 C. A Buppb C - sear_ls.

C7H,ON —22_, %k, C, Identify A, B and C.

51. umrrenanl_gr&dl Cer Queandear ererm Gerwgder sreariiu@b Hpb
Gamppiefliumrer, fpb 2 Hliepdl whpid Hpb 2 wisd Huapen eipss.

Write the chromogen, chromophore and auxochrome present in
azo benzene.

L@l - 111/ PART - I1I

GOl : gadaurmp AfsddlBosin Goppzulsnd @@ darésmens
Caimts(hss abCsamib 61 elamaserss elmweflssea, .

Answer any seven questions choosing at least two questions from each section.

Note :
lﬁllﬂsq - 3| /SECTION - A

52.
Explain the formation of O, molecule by molecular orbital theory.

53. RItué siger snglelalmbg ereueumm 9NSC0s0&sLLEADS ?

How zinc is extracted from its ore ?

54. empgean() wHMID sl manhaaiar LwemEsmaen er(ps)s.
Write the uses of lanthanides and actinides.

para hydroxy

7x5=35

O, (@& 2 (heureueng epasngl TG L T Cararenguflaniiy efersEs.

[ Hwuys / Turn over
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55. [Ni(PPhy), Cl] eremmp oianamey Gamogdn e \GeTeu(HeLaTELDDE Shssan,

(i) IUPAC Quur

(i) enww 2 Cors <wief

(i) rreflser

(iv) menTey eremr

(V) ewewellen sanenio

For the given complex

[Ni (PPhg), Cl,]

Mention

() TUPAC Name

(i) Central metal ion

(ili) Ligands

(iv) Coordination number

(v) Nature of the complex

9fley - oy / SECTION - B
56. Qeuliu Qusselwe GrawLmbd eldufen LLCeum SahHMSEET CT(LPSHIS.
State the various statements of Second Law of Thermodynamics.

57. K, K. -6@ @@L Cuwrear dzriou e Qurgeuren CauflaFswBlene
eflenend @ eu(hHelsasa]b.
Derive the relation between K, and K for a general chemical equilibrium reaction.

58. fAu samredle H0, fasamLyb daoauia ddaamGaus wrhdow
sam_fyb Cargeamar oo ela&EEs.
Explain the experimental determination of rate constant for the decomposition of H,0,
in aqueous solution.

59. Spsrenb asosden emf -gud soall@mande SLLs wor oo
WIHDS®SULD SevrdslHs.
Zn|Zn?*||Ni2* | Ni.
Zn2*|Zn wpmid Ni* | Ni -an S @O&s e Bi(pdsisst apenGu —0.76 V
whmid —0.25 V.

Determine the standard emf of the cell and standard free energy change of the cell
reaction Zn|an+HNi2+ | Ni. The standard reduction potentials of Zn?* |Zn and

Ni2*|Ni half cells are —0.76 V and —0.25 V respectively.
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60.

61.

62.

63.

13

Yifley - & / SECTION - C

2iefiCard suma@in ppeny (PODSDETS (5.

Give three methods of preparation of anisole.

HlQemiiser cvdl elenarden ellmareuflperperws elleTéEe.

Explain the mechanism of Claisen Schmidt reaction.

7683

EMTUTESedls <y feiisaile) sramL@n wrhHlukiseer eflaTdGs.

Explain the isomerism exhibited by carboxylic acids.

ITEQs. Rsemer 2 Bdls serer LwWETLOSSILBD Geugl erflQumr@pLlaer LbHDH
&MUy auenrs.
Write notes on chemical propellants used in propulsion system of rockets.

U@l - IV/PART - IV

Goluy : () GClorgsn e eSlammsasEnss ela wefissaib.
i eflerm o 70-&@ SLLmwuwors el weflssliu 6 Couam@Lb.

Note :

Bseperer  elarrssaiidr gCGseubd  epemy
eflenLwefl&sayLb.
(i) Answer four questions in all.

4x10=40

aﬁ]mrrésa@ésg

(i) Question number 70 is compulsory and answer any three from the remaining

questions.

64. () erev&gren prL seng LTHEEL LOGay sTrenfismern edatsEs.

() vener@saiadmbs,

(a)
(b)

UfsQAs@astiu@Hng ?
Explain the various factors that affect electron affinity.

How is fluorine isolated from fluorides using Dennis method.

Ugnfler  Ceamafley @eamule ereueummy

[ SlmLiys / Turn over
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65.

66.

67.

68.

69.

14

(=) @ap Gy ($CrHm) wrpdwd wHmbd @aeriy wrHPlusds
THEGIST_HLe edlaTéEs.

(<) srauriisefien afeGeisamaudgib, aevLisaiar BrmdUGSS '
dlaarafpopou flu sHdAwuss gg@&rr@t_rruua;ei'r Greuau o)
vwerLBélenper eraLans aflerd@s. .

(a) Explain hydrate (solvate) isomerism and linkage isomerism with suitable

elgid 2-arerm

examples. ;
(b) Explain the use of radioactive isotopes in the study of mechanism of photosynthesis

in plants and hydrolysis of esters.

(=) @wellls Ly smsafler LT SmaT 6T(HEIS.

(<) evenGausiorppid LB LFLILsTES Gararasmy aldmEEs.
(a) Write the properties of ionic crystals.

(b) Explain the adsorption theory of catalysis.

(<=1) @irafafuey WaLi@gal Nosum _go QsramassTear STETNSMETS
&([hH.

(<2,) QpremevL_ e iyamear aumell.
(a) Give the evidences in favour of Arrhenius theory of electrolytic dissociation.

(b) Derive Nernst equation.

(21) Aev-rremev wrHPlwsosiund s&bs TOSSISST_HSEEL GOy
T(PSIS.

(=) BpssdrL pansain semedls siflan aaaury surflasiu@apg ?
() pweuss swmliy
() Ogmipsreeuded Gemquid LTTGLLGSHHE swrflssd

(a) Write notes on cis-trans isomerism with suitable example.

(b) How is oxalic acid prepared by ?

(i) Laboratory method
(i) Industrially from sodium formate

(1) @feamy, Flleearw, apeioany ibasmar CanuBsss.
(=) urelerésmrB&eT - GOILLY T(HEIS.

(a) Distinguish between primary, secondary and tertiary amines.

(b) Write notes on Polysaccharides.
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(1) CetO (A) erenp sflis Gsinob pEHoe ~AUIAE GCamar@Ler sagr
bivgeg sm8pg). Caio (A) -g Arss sreser Carss GOLGSHLCUTE
(B) erenmm enami’ Grramiuen dlensfpg. Guogin Carold (A) smeils Sfle
LOMIL S H,SO, o a aNanaryfpg CynH,0, (C) eremp Geingems
BBADSI. (A), (B) wpmib (C) -gé sam._Bbg edamasemer efarsEs.

(<) (A) erémp gaflon Qzmit 4 (preng) whmb Qsred -11 (LHAemenm)-6
2_aengy. (A) Sigen Ll srgeflambg WN50sHEsIUHSHDS. Saflob
(A) @ saligayar @ran® GeucGaup Cauliufamaseie efearfibs)
(B), (C) @ dw Gsivrusmer smeng. saflow (A) s HNO, o L e
elenarfibg NO, euryeneu QeualiGupdl (D) eremp Camosemns SMHEDS.
(A), (B), (©), (D) -&g sarL_la. alenarsener ailendEs.
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(@) CHO erenm sl Carwob samhg Lrgrber wearpanwgl. Garod (A)
< Curaflwreer dlemarnyfibg, Gaiob (B) CyyHigN, -aws SHEDE.
Ceiro (A) Brss osante swbg KCN 2 Ler aflevaryflibg (C) Ci,H;,0,
eren Gaiwsans smEAng. GCamvmsad (A), (B) whmb (C) -1& sa&mHibs)
clenensener allend@s.

() yGrmiGureis <flegder K, iy 1.34x10~5. 0.5 M yCrmuGuireis
<o wHmb 0.5 M Cemgwin YCrruQCunrGar o erar senyaad 6
pH -enwd sassl(Hs.

(a) An organic compound (A) of molecular formula C;H.O gives violet colour with
neutral ferric chloride. Compound (A) when heated with zinc dust gives a

hydrocarbon (B). Also compound (A) reacts with phthalic anhydride and
conc. H,S0, to give compound (C) of molecular formula C,,H,,0,.

Identify (A), (B) and (C). Explain the reactions.
An element (A) belongs to period number 4 (four) and group number 11 (eleven)

® and is extracted from its pyrite ore. Element (A) reacts with oxygen at two
different temperatures forming compounds (B) and (C). Element (A) also reacts
with conc. HNO; to give compound (D) with the evolution of NO,.
Identify (A), (B), (C) and (D). Explain the reactions.

OR ;

(c) An organic compound (A) C,H,O has the smell of bitter almonds.
Compound (A) reacts with ammonia to give compound (B) C,;H;gNs.
Compound (A) also reacts with dilute alcoholic KCN to form
compound (C) C;,H;,0,. Identify (A), (B) and (C). Explain the reactions.
The K, of propionic acid is 1.34 X 10~°. What is the pH of a solution containing

0.5 M propionic acid and 0.5 M sodium propionate ?

(d)

-~-00o0-
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